
1. Remove original plastic sump guard.

2. Using supplied M8×30mm bolts (2), sump guard washers (4) and nyloc nuts
(2), loosely bolt supplied 10mm thick aluminium extension plate (through 
larger diameter holes in extension plate) to rear mounting holes in 
SubaXtreme sump guard.
Note: 10mm plate can go on top or bottom of sump guard.

3. Using two supplied M8×30mm bolts (2) and sump guard washers (2), 
loosely bolt front of sump guard to vehicle, placing the supplied round 
plastic spacers on each front mounting point between sump guard and the 
vehicle body.

NOTE: Some models have a metal spacer bracket fitted between the front 
mounting points of the plastic sump guard and body, if so remove these 
brackets.

4. Using two supplied M8×30mm bolts (2) and sump guard washers (2), 
loosely bolt the rear of the sump guard extension plate to the vehicle.

5. Position sump guard to obtain best fit and tighten all bolts.

Components

1 – Aluminium sump guard
2 – Round HDPE plastic (white) spacers
1 – 10mm aluminium extension plate
6 – M8×30mm bolts
2 – M8 nyloc nuts
8 – M8 sump guard washers
1 – Fitting instruction

SubaXtreme Pty Ltd, 26 Braidwood Road, GOULBURN  NSW  2580  ABN: 96 119 853 904
ph: (02) 4821 1555  fax: (02) 4821 7797  

web: www.subaxtreme.com.au  email :info@subaxtreme.com.au  

Sump guard
Fitting Instructions
'99 – '03 Outback 

SG-042

Rev 2: July 2015

mailto:info@subaxtreme.com.au
http://www.subaxtreme.com.au/

